BRIRSME LR

Chain Production

11/18/2021

Preparation smsmssem)

+ 4 people per group =4 A5—#)

+ Afterinstructions, each group will
receive @frriRmRxS A= @RAENLTIS

1 Tape (B#& 1 M)

1 Color Pencil (weu#1%) 5
1 Paper Box (#= 1 &)
24 Slips (4 24 38) s

No Other Tool Allowed! ! FagmgEmrTan)

Preparation smismsoem)

+ 2 people per group =2 A5—#)

« Afterinstructions, each group will
receive @frrEEREEEAS@RAERUTIS

+ 1Tape B%a1m@)

+ 1 Color Pencil (&= 1%) i
« 1 Paper Box (#= 1 @)
o 24 Slips (&% 24 3) i

No Other Tool Allowed! ! FagEmsEtTa)

How to Produce Rings? (mfasitsiz?)

1. Use Color Pencil to Connect the Dots
(FIRYEEE AR (—R—F)

Keep Your Table Clean! szramss:
Draw ONE Slip at a time! @sramma:

How to Produce Rings? (mfasfessiz?)

2. Tape the Slip into a Ring

(FRRB T % AR 1R Rt ok SR )

How to Produce Rings? (s esg?)

3. Combine Rings

into Chains
(45 SR B 2B AL SR IR)

-
! n.ib_(

Done! ! #a=m)
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Each Chain = 15 Ecoins (s—ms#m)
Labor and Capital are both costly
(ERTRNANSEN HAE)

» 4 rounds: 1 minute each with 30
seconds of discussion beforehand
Gt4EE - SEARE 1 5% - MR 30 BiRsE)

+ Earnings = Max. in 4 rounds
(185 = 4 A PHBHN)

+ Each group receives 1 toolkit
(EEERAGRIE—E)

Round 1 (5—[E&)

Produce with 1 &arssr1 g
30 seconds Discussion gapasaieT 30 #itia!)

Time's up! Get ready...
(RRIZI | BEREEHLLL.)

Round 1 (3—[ER)

Round 1b (889 5—[E1R)

REEDY

« Round 1 of 60 seconds begins!
(S—EIRT5 60 BRI )

00:28

« Time's up!! Record results @mmz mzsen)

Produce with the other 1 =azs 1 AgrneE
30 seconds Discussion gapasaieT 30 #itia!)

Time's up! Get ready...
(BRIZI | BEREEALLL.)

Round 1b (B4 ME—ER)

REEDY

+ Round 1b of 60 seconds begins!
(EESME—E AT 60 PHBALAL)

00:28

« Time's up!! Record results @mz meses)

-
BRERRIEIR
Linked-Rings Factory
EERY = F( : )
(Production Function)
Total Total
Round| Tape | Pencil | Labor | Product [Revenue| TFC TVC TC ™ MPL VMPL MCL
EE | pE | wE s eEs| @ | @z |28 8 | &

$25 | $15 | $10 | $15 | wiz | mik | ik | sk | Am

1 1 0 0 0 40 0 40 | -40 | NA NA NA

Blw|Nn] =

1 1 1
1 1 2
1 1 3
1 1 4




11/18/2021

Round 2 (368_[E &) Round 2 (38_[E1H)
+ Produce with 2 smRremr2 Aemaum RY
+ 30 seconds Discussion gazmaies 30 Btz .

Round 2 of 60 seconds begins!
(BZEIREE 60 BEA!)

°
« Time's up! Get ready... O 0 b4 . .

(RrEI! ! B ERIEHEEMAL.)

« Time's up!! Record results mmzn mesen)

Round 2b (8855 _[E]5) Round 2b (BE85Ms5 _[E15)
« Produce with the other 2 =&z 2 Aemnn R Y
» 30 seconds Discussion gazsasaits 30 Btz ©

Round 2b of 60 seconds begins!
(ESMEEIAFM 60 B!

°
« Time's up! Get ready... 0 0 b4 . .

(RiEI! ! B ERIEHEEMAL.)

« Time's up!! Record results @mzn mesen)

Ve el — P
HIRBUE T Round 3 (58 )
Linked-Rings Factol 5 .
gsracon « Produce with 3 (who did not do Round 1)
(BRSO 2E—E S0 3 AETRIE)
EERE =F( , ) 8 x
(Production Function) + 30 seconds Discussion @rzmmitss 30 Batia!)
Total Total
Round | Tape | Pencil | Labor | Product [Revenue| TFC TVC TC ™ MPL VMPL MCL
EE (B | wE|8n |2x2| 2 EBlE | 2% - )
$25|$15 | $10 | $15 | Wiz | A& | miA | piA | FE
1 1 0 0 0 40 0 40 -40 NA NA NA f
1 1 1 1
2 1 1 2
31 [1] 3 4 x
ATEEEY « Time's up! Get ready...
(BRI BEREEBRLL.)




f fm

Round 3 (36=[E5H)

11/18/2021

+ 2 groups cooperate and produce with 3,

but recycle 1 toolkit (color pencil + tape)
SMASEER 3 AETRIF - BEEEK—ET1E (FEUE + BEo)

+ 30 seconds Discussion ga#esaiess 30 i)

« Time's up! Getready...
(RRIZI BERAEEFHLLL.)

s — /E\)

Round 3 (=

REEDY

Round 3 of 60 seconds begins!
(B=EREE 60 BHA!)

00:28

« Time's up!! Record results mmzn mesen)

BIRRETR
Linked-Rings Factory
EERE : = F( ' )
(Production Function)
Total Total
Round | Tape | Pencil | Labor | Product |[Revenue| TFC TVC TC m MPL | VMPL MCL
B (@ w25z 8 Bz (20| 2 | 2

$25|$15 | $10 | $15 | Wz | A | aiAk | AA | FIE
1 1 0 0 0 40 0 40 | -40 | NA NA NA

1 1
1 1
1 1
1 1

Blw|Nv] =
ENN [ETN N RN

Round 4 (5[4 [E] &)

* Produce with 4 =@isr 4 Agrmer
» 30 seconds Discussion gapasaieT 30 #atia!)

« Time's up! Get ready...
CLETRY EE R

E e

REEDY

+ Round 4 of 60 seconds begins!
(MBI 60 B! )

00:28

« Time's up!! Record results @mz meses)

BRERRELR

Linked-Rings Factory

EEREH : =F( . )

(Production Function)

Total | Total
Round| Tape [Pencil[ Labor | Product |Revenue| TFC [ Tve [ TC ™ MPL | VMPL | MCL
BE|B% | wE (25 | w2 2 (B2 |29 | 2 ®
$25 )| $15 [ $10 [ $15 | e | A& | miA | AK | A

1 1 0 0 0 40 0 40 | -40 | NA NA NA

1 1 1
1 1 2
1 1 3
1 1 4

Blw|Nn] =




Hands-on (50 Ecoins)

—EBF

11/18/2021

Chain Production Record Sheet mzsiss

BRERRELR

Linked-Rings Factory

EERE: Y =F(_K , L )
(Production Function) I BEX &

Total Total

Round| Tay encil | Labor | Product |Revenue| TFC Tvc ™ MPL | VMPL | MCL
AR e e @/{EQ @-% m |B@m(zEe|sans

ks25 | $15X810 !;159 ez A | e

Hands-on (50 Ecoins)

—EBF

Chain Production Record Sheet smssss
How would your production strategy

change if wage increases to $20?
(MRTH LT 2 AT $20 - BMARSRANEERIE? AMHE?)

1 1 0 0 40 0 40 -40 | NA NA NA
(O O I 3 (45| 40|10 (50 |-5| 3 [45 | 10
2|11 2| 8 |120| 40| 20|60 [60 | 5 | 75| 10
3|1 |1]|3]|11[165| 40| 30|70 | 95| 3 [45] 10
a1 ] 1] 4] 12]180] 40] 40 ] 8o [(100] 1 [ 15 ] 10
BRRRIETR
Linked-Rings Factory
HERE: Y =F(_K ,_L )
(Production Function) i BEX &
Total Total
Round | Tape | Pencil | Labor | Product [Revenue| TFC TVC TC ™ MPL VMPL MCL
EE || wE | ghlaEs| & ElE | 28 @ w |BEE(EEEEEE

825 815[ §o0 | 815

bzt | miA | AR | AR | R PR H[BREE|BRA A

Hands-on (50 Ecoins)

—EBF

Chain Production Record Sheet mzsis=
How would your production strategy

change if wage increases to $20?
(MRIE L 2 (AT $20 - BMTRRRPNEERI BHE?)

Production Function (L vs. K)
LEXBE (57 vs. BER)

1 1 0 0 0 40 0 40 -40 | NA NA NA
1 1 1 1 3 45 | 40| 10 | 50 | -5 3 45 | 10
2|1 1 2 8 (120 40 | 20 | 60 | 60 5 75 | 10
3 1 1 3 11 |165)| 40| 30 | 70 | 95 3 45 | 10
4 |1 1 4 12 |180| 40 | 40 | 80 | 100 1 15 | 10
FIRBET,
Linked-Rings Faj:ry EE$ E
EEEY: _Y =F( _K —
] | |
ER | BRI U (kg ——
3 $15 RES y -
5 0 o |Hl ~na /
—| 1 3 |H 3
0 — | [ [ [of
Szl 8 5 —
3| 1 3
e . 10
4 | 12 1 (blmlnlsi'nng Marginal .
Returns (aissamzan -




Q=1f(LC)

11/18/2021

Hands-on (50 Ecoins)

—REENF

» Chain Production Record Sheet sz
+ How would your production strategy
change if wage increases to $20?
(MBTE L2 BRR $20 - BOARBRFEEERRR? AHE?)
* Production Function (L vs. K)
LEXYE (57 vs. AER)
« Cost Functions (FC, VC, TC)
AR EERS - BHRE - EHE)

SRRBAE TR

Linked-Rings Factory

B. iAE

100

90

Hands-on (50 Ecoins)

—REENF

« Chain Production Record Sheet smszss

» How would your production strategy
change if wage increases to $20?
(MRTHE LI 2 B2 $20 - MBI RMMNEEREE? BHE?)

» Production Function (L vs. K)
EERUE (57 vs. BEE)

« Cost Functions (FC, VC, TC)
BAE (EERE - SHRE - BRE)

+ How is Production related to Cost?
(EERYERL TR AEZ M ER%?)

Total 80
Product TFC TVC TC 70
pzEll B |28 | & || o
$15 A | BRA | A %
0 40 0 4
3 40 | 10 | 50 30
8 40 | 20 | 60 jz
1 40 | 30 | 70 0
0 10 15
12 40 | 40 | 80 -
A EERHE B. A E
HES 100
15 90
80
70
10
60
50
s VA 40
30
0 1x10 2x10 3x10 4x10 2
e 10
0 10 20 30 40 " p %
VC(ZENR &) wEE

Hands-on (50 Ecoins)

—REENF

« Chain Production Record Sheet smzszss

» How would your production strategy
change if wage increases to $20?
(MRTHE LI 2 SR $20 - MR RMMNEEREE? BHE?)

» Production Function (L vs. K)
EEBUE (57 vs. BEE)

« Cost Functions (FC, VC, TC)
BAE (EERE - SHRE - BRE)

+ How is Production related to Cost?
(EERYERLEH R AEZ M ER%?)

s? Staples, MP, AC, MC camssiim
R2E =% - B E)FIOE L © FIOBZERRE R A




